Tableaux des Puissances de Dix (E)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (E) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,01 0,001 0,1 0,0001
22 0,22 0,022 2,2 0,0022
75 0,75 0,075 7,5 0,0075
77 0,77 0,077 7,7 0,0077
95 0,95 0,095 9,5 0,0095
7 0,07 0,007 0,7 0,0007
X 0,01 0,1 0,001 0,0001
5 0,05 0,5 0,005 0,0005
57 0,57 5,7 0,057 0,0057
27 0,27 2,7 0,027 0,0027
25 0,25 2,5 0,025 0,0025
35 0,35 3,5 0,035 0,0035
X 0,001 0,01 0,0001 0,1
19 0,019 0,19 0,0019 1,9
69 0,069 0,69 0,0069 6,9
92 0,092 0,92 0,0092 9,2
46 0,046 0,46 0,0046 4,6
80 0,08 0,8 0,008 8

X 0,0001 0,01 0,1 0,001
87 0,0087 0,87 8,7 0,087
72 0,0072 0,72 7,2 0,072
92 0,0092 0,92 9,2 0,092
40 0,004 0,4 4 0,04
86 0,0086 0,86 8,6 0,086
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